EN

*MonLines
5. Hanging the TV / monitor in the wall plate dividual

MonLines MWHOO5B
Hook the television into the wall plate. Tighten both Ti Itable TV Wall mount

screws with a suitable Phillips screwdriver.

Mounting instructions

1. Scope of delivery
Make sure that you have received all the parts included in the delivery before you start the assembly. If any parts are missing
or defective, please contact your dealer.

o (o

[09000000000e scooos] M5x14 (4x)  M6x14 (4x) M6x30 (4x)  M8x30 (4x)
M-|

O—— ] M-A M-B M-C D
Tighten the
screws DOO0OO0O00O000000 -
left supporting arm (1x) )
; et 0 O

D[] “ i M8x50 (4x)  washer (4x), small spacer big spacer

M-E M-F holder (8x), holder (4x),
M-G M-H
DO00O0000000000 /’_@&{b\
e
[coeeeocoo0se EEEEE ) ) 0%
Wall plate (1x) iaht i 1 -
A right supporting arm (1x) ST8x50 (6x) concrete dowel D8 washer (6x),
B W-A (6x), W-B W-C

Loosen the slider for adjustment, set the desired 2. Assembly preparation

inclination and then fix the slider again.

©00000000000
000066600000

Before the actual installation, please observe the following instructions for proper installation:

Y e Wi B e i e i e e i e |

BERI=IR

i Y e Y e i e i e Y e i e Y e i e}

1. This bracket is designed to be installed and used only as specified in this manual. Improper installation of this product

Controller may cause damage or serious injury.

for the
inclination

)
coceowe

2. This product should only be installed by a person with manual dexterity and basic knowledge and experience in
assembling.

3. Make sure that the surface on which the bracket is to be mounted can safely support the total load of the unit and all
components connected to it.

4.  When mounting the bracket on a wooden stud wall, ensure that the bracket screws are fixed in the centre of the studs.
It is strongly recommended that you use a joist finder.

5. For safety reasons, only lift and position equipment in pairs or with a mechanical lifting device.

6. Tighten bolts firmly, but do not overtighten. Overtightening can damage the components and significantly reduce their
holding power.

7.  This product is intended for indoor use only. Outdoor use may result in product failure and personal injury.

Subject to change without notice

MonLines E-Mail: info@monlines.com - IVI L' - "
Am Marienhof 8 Web:  www.monlines.com O n I n eS ot e i, Be sure to read the assembly instructions before assembly - installation - commissioning!

22880 Wedel Tel:  +49(0)4103/90387 -0 dividual % P This will protect you and prevent damage to your product.
Germany Fax: +49 (0)4103/90387 - 11 : -




EN EN

*MonLines *MonLines
3a. Mounting on wooden stud walls 4. Installing the support arms
Note: Select the screws, washers and spacers (if necessary) according to the condition of the TV back. Align the arms as
i F(’,ngm \IJ 1 AI/ centrally as possible on the back. Screw the adapters tightly to the TV. Tighten all screws, but do not overtighten.
F=7) e
S e V @ 6mm
@—— ’ / ‘ , I I ( 1/4")

For TVs / monitors with flat backsides

Ensure that the screws are fixed centrally in the joists, if

necessary use a joist finder to determine this.

+ N\

The installer will ensure that if conditions change, the
bracket is equally securely fastened accordingly.

The installer must ensure that the surface on which the

bracket is anchored can safely support the total load of

. . Drill holes
the unit and all components connected to it.

=l L

Tighten the
screws

For TVs / monitors with curved backsides

3b. Mounting on stone and concrete walls

The installer must ensure that the surface on which the

bracket is anchored can safely support the total load of

the unit and all components connected to it. Mark the exact
position of the
holes

Drill holes

=l =

Tighten the
screws

Assembly instructions MonLines MWHOO5B - Version no. 2021- Version no. 2021-11 - Assembly instructions MonLines




